ggd

ud gd ud ud ooooobod
1 = goo E 1,200,000
T2 = goo E 425,000
T2 = goo E 425,000
4 = goo E 250,000
) = ooogs2 E 200,000
6 = goo E 170,000
7 = goo E 150,000
T8 = goo E 138,333
T8 = goo E 138,333
T8 = goo E 138,333
T11 = goo E 122,500
T11 = goo E 122,500
13 = goo E 110,000
T14 = ggd E 102,500
T14 = ggd E 102,500
16 = goo E 95,000
T17 = ggd E 85,000
T17 = ggd E 85,000
T17 = ggd E 85,000
T20 = ggd E 61,714
T20 = ggd E 61,714
T20 = ud E 61,714
T20 = ggd E 61,714
T20 = ggd E 61,714
T20 = ggd E 61,714
T20 = ggd E 61,714
T27 = ggd E 51,000
T27 = ggd E 51,000
T27 = ggd E 51,000
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T45

T45

T48

T48

T48

T48

T48

T53

T53

T55

T55

T57

T57

T57

T60

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

47,500
47,500
47,500
47,500
44,500
44,500
42,000
42,000
40,000
40,000
40,000
38,000
35,500
35,500
35,500
33,500
33,500
33,500
30,400
30,400
30,400
30,400
30,400
27,250
27,250
26,250
26,250
24,833
24,833
24,833

21,000
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T60

T60

T60

T60

T60

goo

goo

goo

goo

goo

21,000
21,000
21,000
21,000

21,000
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